Примеры кодирования на языке KNOW

Извините – комментарии и примеры на английском для сохранения аутентичности

     "Michael is  a  mathematician  and   a   linguist.   Ben   is   a

mathematician, computer scientist and psychologist.

 In mid-1999, Michael worked for Microsoft.  Ben is CTO and Chairman of

 Microsoft.

 Michael has a highly creative mind.  Ben suspects Michael has ~several~ highly  creative minds!

 In the year 2000, Michael may create the Unified Field Theory of Physics.

 This is not very likely,

 but it's more likely than Ben's cat creating the Unified Field Theory of

 Physics."

                  =================================

      {

        [Association

      [Inheritance Michael

                           mathematician]

      [Inheritance Michael

                           linguist]

                    ]

The "Association" relation is unnecessary.  The two "Inheritance" relations

are related to each other by the shared "Michael".

      [Inheritance

                      mathematician scientist]

      [Inheritance

                      linguist scientist]

These two relations are not part of the text.  They are in background

knowledge.    Though it is fine to add certain background knowledge when

encoding knowledge, it is optional.  I suggest to include it only when

necessary, since there is infinite relevant knowledge to a given text.

      [Assotiation scientist science]

      [Assotiation  science mind]

      [Inheritance  mind WebMind]

Again, this is not necessary.

      [Assotiation

unnecessary.

         [Inheritance Ben mathematician]

         [Inheritance Ben psychologist]

         [Inheritance Ben "computer scientist"]

      < if it is impossible to associate more then a pair of units -

          then I could split the in pairs

                           ]

         [Inheritance  "computer scientist" scientist]

         [Inheritance  "computer scientist" computer]

A typo, right?  Otherwise "Ben" is a kind of "computer" by deduction!

         [Inheritance   computer WebMind]

Should be [Inheritance   WebMind "computer system"], though it is not in the

text.

          < very risky - just to test you :-)

             [Workfor Scientist science]

             [PartOf Theory Science]

      [Equivalence

         [Create Scientist Science]

             [Workfor Scientist science 0.5 0.5]

                  ]

      [Property scientist mind creative]

      [Create mind theory]

      [RelativeProperty "highly creative mind" "creative mind"]

      [Implication

              [Create mind theory]

              [Property mind creative]

                  ]

      [Equivalence

              [Property mind creative]

              "creative mind"

                  ]

These are not really in the text.

       [Time

           [Workfor Michael Microsoft]

                                       mid-1999]

       [Inheritance

                     Microsoft WebMind]

No.

       [Inheritance

                     Microsoft company]

        [Association

                     Microsoft science]

        [Own Michael "highly creative mind]

        [Equivalence HCM  "highly creative mind"]

It should be "Similarity".  "Equivalence" are higher-order relation whose

arguments are relations or texts themselves.

        [RelativeProperty "several HCM" HCM]

        [Believe Ben

                 [Own Michael "several HCM"]

                                   0.5 0.5]

        [RelativeProperty  HCM "creative mind"]

        [Equivalence

                "Unified Field Theory of Physics" UFTP

                    ]

         [Inheritance

                     uftp theory]

         [Time

              [Create Michael UFTP "year 2000"] 0.5 0.5]

          [Inheritance cat1 cat]

          [Believe Ben

              [RelativeProperty

                     [Create Michael UFTP]

                     [Create

                        [Own Ben cat1]

                                     UFTP]

                                   ]]

       }

      ================================================

The following is what I would do for the given text:

{       [Inheritance Michael mathematician]

        [Inheritance Michael linguist]

        [Inheritance Ben mathematician]

        [Inheritance Ben "computer scientist"]

        [Inheritance "computer scientist" scientist]    // optional

        [Study "computer scientist" computer]           // optional

        [Inheritance Ben psychologist]

        [Time ["work for" Michael Microsoft] "mid 1999"]

        [Inheritance Microsoft company]            // optional

        [Position Ben CTO Microsoft]

        [Position Ben Chairman Microsoft]

        [Own Michael mind1]

        [Inheritance mind1 mind]

        [RelativeProperty mind1 mind creativity 0.95]

// "0.95" as a strength corresponds to "highly"

        [Believe Ben [Own Michael mind2] 1.0 0.2]

// "Believe" with truth value "1.0 0.2" correspond to "suspect"

        [Inheritance mind2 mind]

        [Proberty mind2 number several]

        [RelativeProperty mind2 mind creativity 0.95]

        [Time [create Michael "the Unified Field Theory of Physics"] 2000 0.8 0.2]

// "0.8 0.2" correspond to "may"

        [RelativeProperty [create Michael "the Unified Field Theory of Physics"]

                [create cat1 "the Unified Field Theory of Physics"] likelyhood]

        [Inheritance cat1 cat]

        [Own Ben cat1]

}

